page 1

VOL. 88, NO. 1, FEBRUARY 2015

The Fundamental Theorem of Arithmetic and q-series

Heng Huat Chan

Department of Mathematics, National University of Singapore, Singapore, 119076, Singapore

matchh@nus.edu.sg

Kuo-Jye Chen

Department of Mathematics, National Changhua University of Education, Jin-De Campus, No.1, Jin-De Road, Changhua City, 50007, Taiwan

kjchen@cc.ncue.edu.tw

Warren P. Johnson Connecticut College, 270 Mohegan Avenue, New London, CT 06320, U.S.A.

wpjoh@conncoll.edu

In this article, we show a connection between a polynomial equation of k variables and the Fundamental Theorem of Arithmetic. We derive an identity from this observation and give a proof of one of L. Euler's famous identities. We then connect this identity to identities discovered by N.J. Fine.

The fundamental theorem of arithmetic and a simple identity

The fundamental theorem of arithmetic states that if n > 1 is a positive integer then n can be written uniquely in the form

$$n = p_1^{\alpha_1} p_2^{\alpha_2} \cdots p_k^{\alpha_k},\tag{1}$$

where $p_1 < p_2 < \cdots < p_k$ are primes. This representation allows us to derive the number of distinct positive divisors of n in two ways. The first way is to observe that any positive divisor d of n must be of the form

$$d = p_1^{b_1} p_2^{b_2} \cdots p_k^{b_k},$$

where $0 \le b_j \le \alpha_j$ for $1 \le j \le k$. The number of distinct k-tuples (b_1, b_2, \dots, b_k) is therefore

$$(1 + \alpha_1)(1 + \alpha_2) \cdots (1 + \alpha_k).$$

Since each k-tuple corresponds to a positive divisor of n, we conclude that the number of distinct positive divisors of n is

$$(1+\alpha_1)(1+\alpha_2)\cdots(1+\alpha_k).$$

Next, we count the number of distinct positive divisors in another way. First, we note that 1 is a divisor. Next, the number of divisors of n with largest prime factor p_1

MATHEMATICS MAGAZINE

is α_1 . The number of divisors with largest prime factor p_2 is $(1 + \alpha_1)\alpha_2$. In general, the number of divisors of n with largest prime factor p_s is

$$(1+\alpha_1)(1+\alpha_2)\cdots(1+\alpha_{s-1})\alpha_s.$$

In other words, the number of divisors of n is also given by

$$1 + \alpha_1 + (1 + \alpha_1)\alpha_2 + \dots + (1 + \alpha_1)(1 + \alpha_2) \cdots (1 + \alpha_{k-1})\alpha_k.$$

This yields the identity

$$1 + \alpha_1 + (1 + \alpha_1)\alpha_2 + \dots + (1 + \alpha_1)(1 + \alpha_2)\dots(1 + \alpha_{k-1})\alpha_k$$

= (1 + \alpha_1)(1 + \alpha_2)\dots(1 + \alpha_k). (2)

The identity (2) motivates us to ask if the relation holds with α_j replaced by independent variables x_j . The answer is affirmative and can be proved using mathematical induction. It is clear that $1 + x_1 + (1 + x_1)x_2 = (1 + x_1)(1 + x_2)$. Also, suppose

$$1 + x_2 + (1 + x_2)x_3 + \dots + (1 + x_2)(1 + x_3)\dots(1 + x_{k-1})x_k$$

= $(1 + x_2)(1 + x_3)\dots(1 + x_k),$

multiplying both sides by $(1 + x_1)$ yields

$$1 + x_1 + (1 + x_1)x_2 + (1 + x_1)(1 + x_2)x_3 + \cdots + (1 + x_1)(1 + x_2)(1 + x_3) \cdots (1 + x_{k-1})x_k = (1 + x_1)(1 + x_2)(1 + x_3) \cdots (1 + x_k)$$
(3)

and completes the proof of the identity using mathematical induction.

Identity (3) is due to Euler [5]. The proof above is essentially his, and we will soon see his application. If we set

$$x_i = \frac{-z}{z+z_i}$$
 for each *i*, so that $1+x_i = \frac{z_i}{z+z_i}$,

and divide both sides by z, then it becomes an even older identity due to F. Nicole [12], which also appears in the beautiful paper [11]. If we instead set

$$x_i = \frac{-a_i}{1+a_i}$$
 for each i , so that $1+x_i = \frac{1}{1+a_i}$,

then it becomes problem 101 in [10]. The variation $1 + a_i = c_i$ is in [9], and another form will be observed in our concluding section. Problem 104 in [10] comes from setting

$$x_i = \frac{z - b_i}{b_i}$$
 for each *i*, so that $1 + x_i = \frac{z}{b_i}$.

Finally, if we replace x_i by $-y_i$ in (3), we get problem 5 on the 1952 Putnam Exam [7]. Because of the unrestricted nature of the variables and the connection with the fundamental theorem of arithmetic, which is due to the second author and is apparently new, we believe that (3) is the essential form of this fact. Some of the references above were previously collected in [8, p. 115, Exercises 18-22].

VOL. 88, NO. 1, FEBRUARY 2015

An identity of Euler

Let $q, a \in \mathbf{C}$ with |q| < 1. Let n be a non-negative integer and define

$$(a;q)_n = \begin{cases} 1 & \text{if } n = 0, \\ \prod_{j=1}^n (1 - aq^{j-1}) & \text{otherwise.} \end{cases}$$

We also set

$$(a;q)_{\infty} = \lim_{n \to \infty} \prod_{j=1}^{n} (1 - aq^{j-1}).$$

We now let $x_j = \frac{tq^{j-1}}{1 - tq^{j-1}}$ in (3), where $t, q \in \mathbb{C}$. Note that for $1 \le j \le k$,

$$1 + x_j = \frac{1}{1 - tq^{j-1}}.$$

Identity (3) becomes

$$1 + t \sum_{j=1}^{k} \frac{q^{j-1}}{(t;q)_j} = \frac{1}{(t;q)_k}.$$
(4)

If we let $k \to \infty$ in (4), then we obtain the identity

$$1 + t \sum_{j=1}^{\infty} \frac{q^{j-1}}{(t;q)_j} = \frac{1}{(t;q)_{\infty}}.$$
(5)

One should compare (5) with the well-known identity

$$1 + \sum_{j=1}^{\infty} \frac{t^j}{(q;q)_j} = \frac{1}{(t;q)_{\infty}}$$
(6)

of Euler [4]; see also [8, Section 3.5], for example.

If we replace t by tq in (5) and set t = 1, we arrive at the following well-known identity of Euler:

$$1 + \sum_{j=1}^{\infty} \frac{q^j}{(q;q)_j} = \frac{1}{(q;q)_{\infty}}.$$

Note that the above identity also follows by setting t = q in (6).

Identity (4) is a specialization of an identity found in [8, p. 115, Exercise 23], namely,

$$\frac{(ax;q)_n}{(bx;q)_n} = 1 + x(b-a) \sum_{j=1}^n \frac{(ax;q)_{j-1}}{(bx;q)_j} q^{j-1}.$$
(7)

The proof of (7) is similar to the proof of (4).

Mathematical Assoc. of America Math

Mathematics Magazine 88:1

December 16, 2022 2:00 p.m.

4

MATHEMATICS MAGAZINE

Cauchy's identity and Fine's function

Although (6) is a well-known identity of Euler, (5) is hard to locate in the literature. Since the right-hand side of both identities are the same, it is natural to ask whether (5) is equivalent to (6). The answer is affirmative and we will present two proofs establishing the equivalence of these two identities.

The first proof begins with an identity of Cauchy ([2]; see also for example [8, p. 123]), namely,

$$\frac{1}{(x;q)_{n+1}} = \sum_{j=0}^{\infty} \frac{(q;q)_{n+j}}{(q;q)_j (q;q)_n} x^j,$$
(8)

where |q| < 1 and |x| < 1. Observe that

$$\sum_{n=0}^{\infty} \frac{tq^n}{(t;q)_{n+1}} = \sum_{n=0}^{\infty} tq^n \sum_{j=0}^{\infty} \frac{(q;q)_{n+j}}{(q;q)_j (q;q)_n} t^j$$
$$= \sum_{j=0}^{\infty} t^{j+1} \sum_{n=0}^{\infty} \frac{(q;q)_{n+j}}{(q;q)_j (q;q)_n} q^n$$
$$= \sum_{j=0}^{\infty} \frac{t^{j+1}}{(q;q)_{j+1}},$$

where Cauchy's identity (8) is used twice. This shows that the left hand sides of (5) and (6) are equal and so, these two identities are equivalent.

The second proof that (5) and (6) are equivalent follows from two identities discovered by N.J. Fine. Let

$$F(a,b;t) = 1 + \sum_{j=1}^{\infty} \frac{(aq;q)_j}{(bq;q)_j} t^j.$$

In [6], Fine established many identities associated with F(a, b; t; q). Two of these identities are [6, p. 3, (4.3)]

$$F(a,b;t) = \frac{1}{1-t} + \frac{(b-a)tq}{(1-bq)(1-t)}F(a,bq;tq),$$
(9)

and [6, p. 5, (6.3)]

$$F(a,b;t) = \frac{1-b}{1-t}F(at/b,t;b).$$
(10)

To show that (5) is equivalent to (6), it suffices to show that

$$F(0,1;t) = 1 + \frac{t}{1-t}F(0,t;q).$$
(11)

Using (9), we observe that

$$F(0,1;t) = \frac{1}{1-t} + \frac{tq}{(1-q)(1-t)}F(0,q;tq).$$
(12)

VOL. 88, NO. 1, FEBRUARY 2015

By (10), we find that

$$F(0,q;tq) = \frac{1-q}{1-tq}F(0,tq;q).$$
(13)

Therefore, from (12) and (13), we conclude that

$$F(0,1;t) = \frac{1}{1-t} + \frac{tq}{(1-t)(1-tq)}F(0,tq;q)$$
$$= \frac{1}{1-t} + \frac{t}{1-t}\sum_{j=0}^{\infty} \frac{q^{j+1}}{(tq;q)_{j+1}}$$
$$= \frac{1}{1-t} + \frac{t}{1-t}\left(F(0,t;q) - 1\right)$$
$$= 1 + \frac{t}{1-t}F(0,t;q),$$

which is (11).

Fine's identities

If we replace q by q^2 in (5) and let t = q, then

$$\frac{1}{(q;q^2)_{\infty}} = 1 + \sum_{j=1}^{\infty} \frac{q^{2j-1}}{(q;q^2)_j}.$$
(14)

Next, let $x_j = q^j$ in (3) to deduce that

$$(-q;q)_k = 1 + \sum_{j=1}^k (-q;q)_{j-1} q^j.$$
 (15)

Now, let $k \to \infty$ in (15) to deduce that

$$(-q;q)_{\infty} = 1 + \sum_{j=1}^{\infty} (-q;q)_{j-1} q^j.$$
 (16)

This is essentially Euler's application of (3), and the starting point of his rather cumbersome proof of his pentagonal number identity [5]; see also the next section and [8, Section 4.1]. Another famous result of Euler ([4]; see also [8, Section 3.2]) is

$$(-q;q)_{\infty} = \frac{1}{(q;q^2)_{\infty}}.$$
 (17)

Therefore, from (14), (16) and (17), we deduce that

$$1 + \sum_{j=1}^{\infty} \frac{q^{2j-1}}{(q;q^2)_j} = 1 + \sum_{j=1}^{\infty} (-q;q)_{j-1} q^j.$$
(18)

In [6, (23.9)], Fine gave a generalization of (18), namely,

$$\sum_{m=0}^{\infty} \frac{q^{2m+1}t^{m+1}}{(tq;q^2)_{m+1}} = \sum_{j=0}^{\infty} (q;q)_j q^{j+1} t^{j+1}.$$
(19)

MATHEMATICS MAGAZINE

An elementary proof of (19) using the theory of partitions was given by Chen and Huang [3]. Chen and Huang mentioned (18) and deduced (17) by appealing to an infinite version of (3), namely,

$$\prod_{j=1}^{\infty} (1+f_j(q)) = 1 + \sum_{m=1}^{\infty} \prod_{s=1}^{m-1} (1+f_s(q)) f_m(q),$$
(20)

thereby giving another application of (3).

In the same work, Chen and Huang also discovered that [3, Theorem 2.3]

$$q^{2\ell} \sum_{m=1}^{\infty} \frac{t^m q^{(2k+1)m}}{(tq^{2\ell};q^2)_m} = q^{2k+1} \sum_{m=1}^{\infty} \frac{t^m q^{2\ell m}}{(tq^{2k+1};q^2)_m}.$$
 (21)

We take this opportunity to derive a generalization of (21). Let a = 0 in (10) and deduce that

$$\frac{1}{1-b}F(0,b;t) = \frac{1}{1-t}F(0,t;b).$$

This yields

$$\frac{1}{t} \left(\sum_{m=1}^{\infty} \frac{t^m}{(b;q)_{m+1}} \right) = \frac{1}{b} \left(\sum_{m=1}^{\infty} \frac{b^m}{(t;q)_{m+1}} \right).$$

Replacing q by q^2 , t by tq^{2k+1} , b by $tq^{2\ell}$, we complete the proof of (21).

Euler's pentagonal number identity

In [1], Andrews defined

$$f(x,q) = 1 - \sum_{j=1}^{\infty} (1 - xq)(1 - xq^2) \cdots (1 - xq^{j-1})x^{j-1}q^j$$

and showed that

$$f(x,q) = 1 - x^2 q - x^3 q^2 f(xq,q).$$
(22)

From (22), he deduced that

$$f(x,q) = 1 + \sum_{m=1}^{\infty} (-1)^m \left(x^{3m-1} q^{m(3m-1)/2} + x^{3m} q^{m(3m+1)/2} \right).$$
(23)

And rews then set x = 1 in (23) and deduced using (20) that

$$f(1,q) = (q;q)_{\infty}.$$
 (24)

Euler's pentagonal number identity

$$(q;q)_{\infty} = \sum_{m=-\infty}^{\infty} (-1)^m q^{m(3m+1)/2}$$
(25)

then followed from (24) and (23).

...

VOL. 88, NO. 1, FEBRUARY 2015

Apéry's proof of the irrationality of $\zeta(3)$

In this final section, we connect (3) to Apéry's proof of the irrationality of $\zeta(3)$. In [13], A. Van Der Poorten told the story of R. Apéry announcing his proof that the constant

$$\zeta(3) = \sum_{n=1}^{\infty} \frac{1}{n^3}$$

is irrational. Apparently, Apéry gave his presentations with a sequence of unlikely assertions, the first one being related to the identity

$$\sum_{k=1}^{K} \frac{a_1 a_2 \cdots a_{k-1}}{(x+a_1)(x+a_2)\cdots(x+a_k)} = \frac{1}{x} - \frac{a_1 a_2 \cdots a_K}{x(x+a_1)(x+a_2)\cdots(x+a_K)}.$$
(26)

As illustrated by H. Cohen [13, Section 3] with clever substitutions, (26) implies that

$$\sum_{n=1}^{\infty} \frac{1}{n^3} = \frac{5}{2} \sum_{n=1}^{\infty} \frac{(-1)^{n-1}}{n^3 \binom{2n}{n}}.$$
(27)

It turns out that (26) is a consequence of (3) by simply letting

$$x_j = -\frac{x}{a_j + x}.$$

It is not clear why Apéry included (27) in his list of claims when he presented his work on $\zeta(3)$. The proof which was eventually presented by Poorten in his article did not use (27). But still this identity is interesting in its own right.

REFERENCES

- G.E. Andrews, Euler's pentagonal number theorem, Math. Mag. 56 (1983), no. 5, 279–284. https://doi.org/10.1080/0025570X.1983.11977058
- A.-L. Cauchy, Mémoire sur les fonctions dont plusieurs valeurs sont liées entre elles par une équation linéaire, Comptes Rendus de l'Académie des Sciences (Paris) 17 (1843), 523–531; Œuvres Complètes d'Augustin Cauchy, 1st series, vol. 8, Gauthier–Villars, Paris, 1893, 42–50.
- W.Y. Chen and S.S. Huang, A partition result which implies Fine's identity, Glasg. Math. J. 47 (2005), no. 2, 405–411. https://doi.org/10.1017/S0017089505002636
- L. Euler, Introductio in Analysin Infinitorum, vol. 1, Marcum-Michaelum Bousquet, Lausanne (1748); Opera Omnia, Series Prima, vol. 8, B. G. Teubner, Berlin (1922); English translation by John D. Blanton, Springer-Verlag, New York (1988).
- L. Euler, Demonstratio theorematis circa ordinem in summis divisorum observatum, Novi commentarii academiae scientiarum Petropolitanae 5 (1760), 75–83; Opera Omnia, Series Prima, vol. 2, B. G. Teubner, Berlin (1915), 390–398.
- 6. N.J. Fine, Basic Hypergeometric Series and Applications, Amer. Math. Soc., Providence, RI (1998). https://doi.org/http://dx.doi.org/10.1090/surv/027
- A.M. Gleason, R.E. Greenwood, and L.M. Kelly, *The William Lowell Putnam Mathematical Competition* Problems and Solutions: 1938–1964, Mathematical Association of America (1980). https://doi.org/10.1112/blms/16.3.313
- W.P. Johnson, An introduction to q-analysis, American Mathematical Society, Providence, RI, (2020). https://doi.org/10.1090/mbk/134
- 9. G. Klambauer, *Summation of Series*, Amer. Math. Monthly 87 (1980), 128–130. https://doi.org/10.2307/2321992
- 10. K. Knopp, Theory and Application of Infinite Series, Dover, New York (1990).
- 11. D.E. Knuth, *Two Notes on Notation*, Amer. Math. Monthly 99 (1992), 403–422. https://doi.org/10.1080/00029890.1992.11995869

8

MATHEMATICS MAGAZINE

- F. Nicole, Méthode pour sommer une infinté de Suites nouvelles, dont on ne peut trouver les Sommes par les Méthodes connuës, Mémoires de l'Academie Royale des Sciences Paris, 1727, 257–268.
- A. Van Der Poorten, A proof that Euler missed ... Apéry's proof of the irrationality of ζ(3). An informal report. Math. Intelligencer 1 (1978/79), no. 4, 195–203. https://doi.org/10.1007/BF03028234

Summary. We connect the fundamental theorem of arithmetic to the Euler-Nichole identity and discuss various useful *q*-identities.

HENG HUAT CHAN (MR Author ID : 365568; OCID : 0000-0002-9215-0895) Heng Huat Chan earned his Ph.D at the University of Illinois at Urbana-Champaign under the direction of Bruce C. Berndt and spent nine months at the Institute for Advanced Study at Princeton immediately after graduation in 1995. He then taught for a year at National Chung Cheng University before taking up a job at National University of Singapore.

KUO-JYE CHEN (MR Author ID : 352175; OCID : 0000-0002-7500-6488) received his Ph.D in Mathematics from the Pennsylvania State University under the direction of George E. Andrews, after which he started working at National Changhua University of Education.

WARREN P. JOHNSON (MR Author ID : 612409; OCID : 0000-0001-7015-5241) received his Ph.D from the University of Wisconsin under the direction of Richard Askey. He is grateful to his co-authors for inviting him to join this project and providing a better repository for the sources of the Euler-Nicole identity than the exercises of his book An Introduction to q-analysis. He is professor of mathematics at Connecticut College and Deputy Editor of Mathematics Magazine.